DL 650 V Strom
Hugger — all years

Fitting Instructions

Kit Contains:

Moulded Fibreglass Hugger

1 x ‘P’ Clip (metal with rubber liner)

1 x Flange Head socket screw — M5 x 20
2 x Flange Head socket screw — M6 x 16

2 x Open Rubber Grommets

2 x %” dia’ x 6mm Steel Collar.
First remove the left hand side passenger foot rest to allow better access (2 x socket bolts).
Using a large posi-drive screwdriver, remove the chain guard.

Now, moving to the right side of the bike, use a smaller posi-drive screwdriver to remove the single
M5 screw that fixes the plastic guide for the brake hose/abs line to the swinging arm. - Dis-
guard this plastic guide.

Now insert the two open rubber grommets in the pre-drilled holes on the chain guard side of the
Hugger. Followed by the steel collars.

Sit the Hugger over the rear wheel and down onto the swinging arm. Loosely attach it on the chain
guard side with the two M6 x 16 socket screws.

Now open up the ‘P’ clip and pass it around the brake hose and the ABS line with the open ends of
the clip facing towards the Hugger — See image above.

Now attach loosely using the M5 x 20 socket screw. | small individual Allen key is best for this. Take
care not to get this bolt cross threaded!

Fully tighten the two bolts on the chain guard side.

Now fully tighten the M5 now. Note: There is some tolerance in this mounting to allow final
adjustment of the Hugger over the centre of the tyre.

Now re-fit the left hand passenger footrest.

Check all fasteners are tightened as required.



